Fo Tk DA A [Z DT
AT B ]
BH AR k=2
ST EL O ik 5% L A e Bh 4
A - HE S 290 000
8L 4 990,000| YEfiF 3 300,000
FHODEHHEREFH 100,000
Wik SBATHEE 300,000
BhRk 4 240,000 | S EHIX HIESH A2
HEA 3| Hr 4R E
PR JEE il 4 98,281
it 1,328,284
X DES BT
BH ¥R R k=
A - IHE 3 460,424| 5 E it HIRIEEY — kL 45
e FH BB
> BE=BAT gl e s P e = A
e s o 302,880 |22 R IE . TV H— AT S BE N
s\ AL 2 fifi 2 i 90,755
R 20650 S e
HIK S hGSD HT7 30 2 A
. . <H_RDT=HG
AL %&f\@%”%ﬁ ! 11,225|72 L DA 11,225
i HhPE Hh Y S
Sp by
HulE PR3 114,330 }ffaj\_ SRk ?3’3?8
it 1,272,519




IWAERE 1,328,284 — X EFF 1,272,519 = 55,765
25| 5%mE 55,765 2B AT | SRR L £,

%

FRAEEREEL S R PR R EHELES,

A543 H31H ZEL OIS &K & Ef

TRAFERE ES OV g2 N SR FIL, WIEERO FT,

st SH#E «A /8 ZEHEL K IBES

o ST %



